MaccoBas A (3 . Paccuntante

/I—bzqﬁg\ MacCoBble 01K

M (B-X _3MeMEeHTOB B BOfe.

[laHo: | PelieHue: - T l

Ral) 2 12 N
w(H) = ? ) =——=0,111=11,1%
M (HzO) 18
O) = — = —— =(,889=88,9%
w(0) I\/Ir(HzO) 18 °_

OtBeT: 11,1%; 88,9%.



OTBeT: 44,8%; 18,4%; 36,80/cl>vI r

PelueHune: B 3apava 2. —
A (O - Paccuurarite MaccoBble
w(3) L [,u,onm 3MeMEHTOB B BemeCTBeL
_ Mr(B-X K SO,
- K) 2 39-2 78
wik) = B2 = — =~0,448= 44,8%

M(K,SO,) 174 174
M (K,SO,) =39 2+32+16 4 =78 +32+64 =174

A(S) 1 32
S)= —x = 22 20,184 = 18 4%
w(s) M (K SO,) = 174 °
A(O)4 164 64
w(0) = OV 4 - 2% ~0,368= 36,8%

(KSO0,) 174 174



